Page: 1 of 2

FNEZRBERRFERBEARTALHETHE TR 201745838 (k) ~58 (£)
RE—Ex
PSS EEE RS
A £+ fEH 1 {ir 2 fir 3L 4z 5 fir 6 fir. 71 8L
57| 5/4 100m R #—(©2) 11,13 [{i# FE—(2) 11. 18 | %% i (3) 11.23 [JEBE &R (3) 11.32 |HEF {54 (3) 11.36 | &% Hik(3) 11.40 |¥7HE BA(2) 11.40 |74 JRk (3) 11.63
FrITE +3.1 | FRE R +3.1 | Rl +3.1 | = +3.1 | Rl +3.1 |Rik +3.1 | KM +3.1 |FEFAN +3.1
% 5/5 200m |HE  fEh(3) 22.91 |{if%  fiE—(2) 22.94 |f&%  1EH(2) 23.24 % HK(3) 23. 44 V4 JRk (3) 23.99 [{ERE B (2) 24.08 & Ktk (3) 25.19 R #—(2) 25.21
KM -L2 | FRER -1.2 |FFER -1.2 |RiE -1.2 |FFER -L2 | FRE R -1.2 |5 -1.2 |FRHSE -1.2
B 5/3 400m | fa (3) 50.90 |H)Il A (3) 51.19 |HE  f6h (3) 52.15 [ —F(2) 52.28 [ H Bt (3) 52.72 |fEH w2 (1) 56.45 |F{E BRI (3) 1:02. 13 |4 #EaE(2) 1:02. 43
K R BN N Kt N TR =i
57| 5/4 800m |fA[ HZA(3) 1:59.22 |I®KA  JEF@Q) 1:59.70 |'=HH  F(3) 2:00. 58 |IRFHEF  HEA (3) 2:01.07 |fkH UK (2) 2:01.54 |'mA K (1) 2:01.83 | =4F  BEK (1) 2:07.94 |HK MK (3) 2:11.26
NS R M Rt N TR TR N Rl
BH5/3] 1500m |k {EZ A (3) 4:24.95 [IH BT (3) 4:25.36 |FGH £ (3) 4:25.71 |1HF [ (3) 4:27.39 'EA Kt (1) 4:29.75 |FF &4 (3) 4:30. 10 [{iTHF 2k (3) 4:30. 15 | B PEAEA (2) 4:31.18
NS R NS N TR R TR K
B 5/5)] 5000m |iEHR f(3)  15:11.34 [FRE 4P (3)  15:35.12 | EH &2 (3)  15:46.53 W[ b (3)  15:49.69 [#AH  FIE(2)  16:04.73 |t FR(3)  16:13.69 |{[EF M (3)  16:37.47 |KFE & (3)  16:50. 60
N3 NS R M TR N =i B il
BE5/3] 110mH |#IE  Fri(3) 16.44 [Ihm E4 Q) 16.53 |/ A (3) 17.50 |84 dedkd (1) 17.84 W1 HER(3) 17.87 | B =R ©) 18.15 ¥4t w (3) 18.18 |H F  EHHL(2) 19. 84
(1. 067m) J\BE IR -3.5 |JIlzH -3.5 |l -3.5 | -3.5 |Ilza -3.5 |JIlzHa -3.5 | -3.5 |TAf -3.5
BF5/4 400mH [lhn EHEG) 56.90 |H& —E(2) 57.98 |4 b (1) 1:00.22 |47 HEK @) 1:01. 39 |# ik [ (3) 1:02. 13 [#AAR M (2) 1:03.36 W)l AR (3) 1:04. 17 |&HE Fnz (2) 1:06. 83
(0.914m)  |llzH NS TR T [l KM Bl Nz 4 TR
BF5/403000mSCHR  FiE Q) 10:00.25 |{ifFF  HE(3)  10:02.71 |Fi#E  HEIE(3)  10:04.21 [JUEF kFG)  10:09. 16 |Fith () 10:16.41 [H B TEE () 10:20.91 [#EE —HR(2)  10:21.17 kB JoHR(2)  10:25.17
(914mm) TR R R HE NS B =X FREH N3 PR
BT 5/3] 500 0mW [#E  EEB)  22:33.33 |fBi SCUR(3)  22:38.32 |EIRF ZAEK(2)  23:06.52 [IUF FEH(3)  23:06.53 |fM Wz (3)  23:42.74 W FAEB)  28:36.93 [FkAR A1) 33:55.18
=X TR # PRI LRl T T T
BF5/3] 4X100m | KM 43. 15 |FEEF0 44.10 |5=Fn 44. 43 |FFn s 44.56 |JIlZ2H0 44. 98 |\ 45.15 |FRI % 45.29 |Ei 45.79
rE ERA(2) W JRRL(3) AR 1 (3) e BEFE(2) HE o EERE) BE S (2) Bk FlZEQ) LR WS (2)
Ry L (3) T A (3) W Kk (3) e HE—(2) IS & ) i w2 (1) R E—(2) HEF MK B)
AN I 6)) &1 HEX®G) R ER®) [/A¥:N #(2) BA ERKQ) i —E(@) B Bkl (1D KB HER(2)
3] fi (3) HH Eh(©@) SFH SRR (2) Mg RE(2) fElE K () Pk #(2) OB (D) 5 F4h(3)
BA6/6| 4X400m | KMl 3:25.03 [\ 3:25.78 |FiH0 3:33.04 |Rik 3:38.80 |F:Fn 3:40. 48 |FFa G H 3:40. 48 | =k 3:41.05 |Jllzfa 3:43. 30
e ERA(2) W w2 ) POl A (3) AR g (2) S SRYRER (2) W fE—(2) JEBE IR (3) S RFRR (3)
ik fa (3) Fafd 2t (3) o Uk (3) " F4h(3) TR A (3) ek BEFE(2) 20 ) ) B (2)
JIA Q) IEFBF B (3) &1 HEXEG) KB HER(2) s HKR@G) (A% #(2) LN (1) AR EKRQ)
S G)) i —H(©@) T AL (3) HE O MIKO) B Kk ) W R A) WHE - EXQ fElE K (©2)
B 6/4 sk N HEAEB) m65 [H FE BEA (D) 1m65 THE  HER (1) 1m60
PN Loz =i
B 5/3 e Bk
B 5/3 A Bk SEH FRURER (2) 6mdl |t =K (2) 6md0 7T BEEA(2) 6mo6 |AH  AHHL(2) 6m02 |ILA  HAK(2) 6m00 | fL8H  iEH(3) 5m98 |kt k(1) 5m80 |FaA B (3) 5m66
Ffn -0.7 Iz +1.8 | K¥H 40,7 [\ +2.9 [\ +0.2 |\ T +1o4 | TR -1.5 |BpAf +2.9
B 5/5 =Bk A ek (2) 13m58 | ik =k (1) 12m87 |#AA B} (3) 12m51 [PFE FRA(2) 12m40 |fLBH  EE (2) 12m36 | P SRURAR (2) 12m22 | Faps (1) 12m02 {8 =4 (1) 12m01
INizis +0.5 | TR +2.2 | A 1.7 | R +0.6 | J\ifuG +2.4 |FHn +1.2 |H5H +1.5 |\ +1.1
B 5/4 Fa L ety BZE(3) 14m32 |#&H  HEAX (D) 11m04 |[AH  #hth (1) 10m86 [ IR (3) 10m17 Rl Gt (3) 10m15 |Hfid] SR (3) 1oml4 |[FA - AL (3) m70 |HLH B (3) 9mb4
(6.000kg) | /\Wie Rik i Ve T Rl Rl Rik f SRl
B 5/4 MR ety BZE(3) 45m95 |4 R (3) 3Bml2 AR HEE(2) 31m37 |5z (L HEAHE (3) 30m43 [Hf S (3) 30m18 | &I A (1) 28m27 [P HEFR(2) 26m96 | Bk (3) 25m68
(1. 750kg) | J\iue NGR | E- it R = PN R NS b5 Fn
BA6/3 | Nr~e—fF [ HEKOG) 38m34 [k R (2) 37m83 Rl it (3) 36m37 [fEi HEK (1) 34m47 | #(3) 30m72 S #EF(3) 28m68 [Fisd Ak (2) 25m81 |HEJE ¥ (3) 22m87
(6.000kg)  |F*FnfK LRl RRil Rif FRIE K Rik K K P
B 5/5 EUE S e FEREQ) 55m37 | fES}(3) 52m85 [MEfr  EZE(3) 52m70 [l BRI (2) 51m07 | A ZH(2) 47m94 | IR I (3) 46m66 | LA (3) 43m05 |FI%  SuK(2) 40m78
(0.800kg) |FEu LRl i Jb=Efn N KU T K
B 5/4 NS iR EEE) 4737 |EHH HORHS (1) 2643 | AIL K (2) 2448 |thif (1) 2006 [F£ 1 - (3) 1557
5/5 JiFZa gl gl RS Nzt
100m—EdFBE-F2ALEE-400m |11, 65/+1. 9-6m03/~0. 8-8m79-55. 13 12.99/+1. 9-4m38/+3. 8-6m63-1:01. 49 12. 38/+1. 9-4mA7/+1. 2-6m76-58. 10-DQ/ 13.55/+1. 9-4m16/+1. 4-5m01-1:03. 43 11.90/+1. 9-5m01/+0. 2-6m69-DNF-DNF/
110mH-=° ¥ $—E EBk-1500m |16. 81/-1. 4-42m51-1m76-4:36. 95 20. 50/-1. 4-23m86-1m52-5:45. 83 19m83-1m28-5:26. 58 23.15/-1.4-12m73-1m31-5:23. 31 23m77-NM-DNF
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FNEZRBERRFERBEARTALHETHE TR 201745838 (k) ~58 (£)
RE—Ex
PSS EEE RS
H £+ fEH 1 {ir 2 fir 3L 4z 5 fir 6 fir. 71 8 fir
7| 5/4 100m |HZAHE #H&Q) 12.43 |45t = (3) 12.61 |k F2fhn-r- (2) 12.81 |far = (3) 12.96 |/k#B L3 (2) 13.08 | =8 A&HI(3) 13017 [/ AR (3) 13.26 |41 £&FQ) 13.51
I\ i 42,6 |\ 42,6 |\ 42,6 |FRIEH +2.6 |NT 2.6 |JIlZA +2.6 |FHER +2.6 | BT +2.6
& 5/5 200m |HEHE FEK Q) 26.57 |45 A x (3) 27.18 |13 Fm+(2) 27.27 /K LT (©2) 27.32 [IKA  FE33) 27.85 |[&7  EFQ) 28.54 [VEky LR (2) 28.79 [E EAE®G) 29.33
IR -1.2 | \iEi% -2 |\ -1.2 |NT -1.2 |#pAF -1.2 |BAF -1.2 | ZHR -1.2 | KM -1.2
| 5/3 400m |AKE LT<(Q@) 1:00. 58 |[KA  HE@G) 1:01. 56 |44t A p X (3) 1:04.65 |[HH %0 (3) 1:05. 04 |HEAS i (3) 1:05.97 [HE #HE®G) 1:07.07 Bl BRF0(2) 1:07.55 [JHAS &R (2) 1:09. 71
M B IR T S K NS =i
4| 5/4 800m |#EH Q) 2:13.97 Bk U0 (3) 2:25.74 |l K 3) 2:26.34 |FHE DD (2) 2:26.60 |[KA  FE3(3) 2:29.22 Bk 4R (2) 2:34.67 |'EIE  HE(3) 2:40.00 |FEK 7372 (2) 2:40. 40
NS I TR NS B NS T TR
ZF5/3] 1500m |HR A Q) 4:37.50 YA DY 7 (3) 4:48.43 |1l £D7-(2) 4:51.29 [l WA (1) 4:52.75 [HB EZQ) 4:55.97 [k O D (3) 4:56.90 A ZEFE(3) 5:06. 06 |FEK 17372 (2) 5:07. 61
NS R IR NS TR il T TR
ZF5/5] 3000m |HR A Q) 9:38.09 IA DY F(3)  10:11.58 ||l £y (2)  10:30.00 |AifH 22 (3)  10:57.99 [#aA  F(E(Q)  11:00.78 |HEH H<HB)  11:03.76 [EL #ERE(1)  11:30.30 |[ATH BEAE @) 11:33.72
J\ I NGR | i1 5 HL N F N TR FREH i5gh)
ZF5/5] 100mH |3k i+ (2) 15. 81 |RRAS 1 HAE (1) 18.03 [[NE : B4 HERL  18.03 1% S H(2) 18.17 | Wi (1) 18. 71 |FHE  HE(2) 18.85 |{&HF Ak~ (2) 18.91 [f=g  mefd (1) 18.99
(0. 838m) NS -1.0 |\ -1.0 | K -1.0 | =K 1.0 | -1.0 [\ -1.0 | R H -1.0 |50 -1.0
#ZF{5/4| 400mH |MF  EFEQ) 1:13.33 |8 F7&(3) 1:13.53 |JHF  1ERL(2) 1:13.79 |ER  H1 (1) 1:15.54 |JRH8 HEZE(3) 1:18.03 [f=88  mefd (1) 1:23.44
(0. 762m) FRIF % TR B KU TR #HH T
ZF[5/3] 5000mW |[H ARG 27:16.61 B BEHIG)  27:34.34 [IUfE BEFE(2)  30:51.90 [JEHE Ak (2)  31:08.17 |FALE BV (2) 33:33.25 | AL EP(3)  36:16.99 [FAK  EF(1)  38:55.69
Nz H R HE Nzt TR N3 ERil WS
ZF{5/3] 4X100m |\ 50. 26 |5k 50.97 |JIlzHa 52.90 |5F 1% 53.69 [N+ 54. 64 [ K 54.65 | =) 55. 37 & H 55. 40
g FEmv-(2) M SBY(©Q) (1= i (1) I 50 (3) Pk 2B (D) B ER(Q) Al A& (D HE O w2
P A (2) Farh %% (3) R S (3) HEAR #(3) FH %% (2) R s (2) B 45 (2) REE HESE(3)
A 7P X (3) hEp FE () o ERE(2) LA fifER & (1) HE i (2) AR K (2) VRS AR (2) iEES i (2)
FHE . B(Q) S ER®G) ZE &R ) i lig & F(2) AKHE LT< (@) PE EEG) g e (D) IE R (2)
P 5/56| 4X400m |[J\IFE 4:11.00 |50 B 4:12.54 |FrgP 4:16. 28 | K 4:23.96 |5FF0 4:28.43 |INT 4:31.17 | = 4:33.49 |BPKS 4:36. 97
At 7P X (3) S R (3) HEAR i (3) hlE EEG) s #WE@G) Pk 2B (D) B 45 (2) &t EEQ
FHE S H(2) Farp %% (3) PEH XB(3) A K (2) AN AT KL< (2) R Q) ATE R E € (2)
BRI AN (2) e B0 (2) TR EE Q) B AER(©Q) ATH ZE3E(3) FH %% (2) S —THE(2) MAR EFH Q)
BEH EMEQ) TSR il EEE) R st (2) 0 (3) H i (2) g Zisk (1) KA #EE@O)
| 5/4 & ek fic] I 3% % 1 (2) 1m38 /& M #E (1) 1m35 &R Ak (©2) 1m30 [Z56F  HEH(1) m25 [lhb EfE(2) 1m25 |[EE : B ERd m25 [lm 8 (1) 1m20
TR % TR % TR EERil NIz 4 KU SR %
| 5/3 ARk P A (2) 5m39 |FEIL 24 (1) 5m00 |ZFFT S (3) 4m86 BRI su - (2) Am75 | KON HEFE (3) 4m61 I Ak & (2) 4m50 |/NEE BT (1) 4m49 | FH % (2) 4m41
I\ i +2.6 |\ -0.9 Iz +0.4 [ K +5.5 | TR +0.7 | TR R +3.4 |50 +3.5 |NT +1.0
%+ 5/5 =Bk Trkf HiZE(3) 10m28 |FEIR 551 (2) 10m28 | [l 3% % - (2) 10mO1 | (LA W FL & (1) 9m93 | KA HEE (3) Im72 |FHE 4 (3) 9m69
Nz A +1.0 | KU +1.7 | TR +11 | TR +3.0 | FRE +1.2 |MEFEF +0. 1
| 5/5 T L L 1 (3) Im85 |FEIH  FEHE(3) 9Im82 = il A% (1) Iml5 | M SEH%E (1) 8m89 | KJII BAZE(2) 8ml8 |ILEF AL (3) 8m02 |H I FEHE(3) 8m00 [HE%: B (1) Tn83
(4.000kg) [Nz 47 Rk T Rl K FRP% FR % R
71 5/3 [z W EKEQ) 34m78 4Gt HE (3) 27m56 | 1 (3) 26m99 | S (1) 26m27 [T AL (2) 24m86 |k 7 (3) 23m96 [AAH  H-(2) 23m73 | £ (3) 23m26
(1.000kg) |E# i Nz Rik EH [iseEn NG [y En
ZA5/3| Nrv—#K |EH EEOQ) 44m01 | RJII - WAZE(2) 29m16 | EEE (1) 21m34 [#2H A (2) 19m58 | 5 A (3) 18m59 |JIIA  HF(2) 16mad |HIA AR (2) 16m17 |BEA 928E(1) 10m95
(4.000kg)  |Rik KU Rik i N2 A KU KU K
| 5/4 /4 S HHE (3) 37mll |ARH R XV (3) 33m69 |+ & ¥ (2) 29m93 |Fgih T3 (2) 28m73 |JIIA  HE(2) 28m29 =T AL (2) 28m02 |1l L (1) 26m79 (WK i (3) 26m63
(0. 600kg) |\ ElRil FRIFFX =i KU Bt NI [y En
#Zf{5/3 LREB  |FEE Q) 2960 | M 3 (1) 2697
5/4 I\ Fr %
100mH-7E i BE-fa FL%&-200m |18, 69/-1. 9-1m29-7Tm91-28. 84/+1. 6 18.27/-1. 9-1m38-6m35-30. 17/+1. 6
BV $-800m 3m96/+1. 2-22m72-2:42. 72 4m19/-0. 4-15m44-2:53. 91
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